BEVAE 181

BLOCK 1 AN INTRODUCTION TO ENVIRONMENT
STUDIES

UNIT 5 ENERGY RESOURCES

COMPLETE UNIT 7 WITH MCQ

Hindi & English both

1. HRd ® Fd SHoll BT @THT fHaar ufa=rd Sui ey s g2
What percentage of the total energy producedinithe worldys consumed by
India?
A. 10%
B. 3%
C. 16%
D. 30%
Answer: B
2. T 3= &1 SHul SUURT ST SHESIT @ SruTa o e $ifte 82
Which country €ensumes the highest percentage of energy in comparison to its
population?
A. HRd/ India
B. dIF/ China
C. 3ARBIAUSA

D. SToileh/. Brazil

Answer: C

8 URAH et Wi fra-t uferra srien $u9 & g awdt, MaR iR $iY
SERMIIR Ak 32
Even today, what percentage of India‘s population depends on fuelwood, dung,
and agricultural wastes?
A. 90%
B. 80%
C. 70%
D. 60%
Answer: B
4. fFafafEaa d Q&9 91 v SRS el Jid T8 &2
Which of the following is NOT a non-conventional energy source?

A. STOEY E\_ﬂi / Biomass energy

B. Id (SIIAT=RH S8 / Oil (Fossil fuel)
C. HITaT / Coal



D. Ta 3l / Wind energy

Answer: C

. HRd # I St BT AT 59 Sera & fore farar wirar 82
For what purpose is biomass energy used in India?

A. fosrelt Idre / Electricity generation

B. Had Sfd T&UT/ Only water conservation

C. Had IR H/ Only in industries

D. had ﬂiﬁw o fe1T / Only for domestic use

Answer: A

. HIRd H 1T $eH &1 fha-n ufard o Seq o1 fgwa g2
What percentage of total fuel used in India is biomass fuel?

A. 20%

B. 10%

C. 30%

D. 40%

Answer: C

. IR AAGTR forads gRT S 1 HHhSUaRT Hdrarg?
What does the biomass gasifier convert to usable,gas?

A. vIcT / Water

B. 319 ST / Solid biomass

C.®dl/ Air

D. ®IgdT/ Coal

Answer: B

. ITART AHETR & frasit uend Tl 8w @Y o gad 82
How much heat can be generated from halfa kilo of dry plant tissue in a biomass
gasifier?

A. 1000 Kcal

B. 1890 Kcal

C. 500 Kcal

D. 2500 Kcal

Answer:iB

. URG@EPE Sl wid I fagga Sare- faar wrar 82

Which of the fellowing energy sources is used to generate electricity in India?

A, STITEE / Biomass
B. ddT hoil
C. HIgdl / Coal

D. g4l / All of the above
Answer: D

AR Suil T TN fd yerR A fHar sirar g2

How is solar energy utilized?

A. had TH g & 1%1? / Only for hot water

B. bad faelelt Idig- o forg / Only for electricity generation
C. TR aﬂﬂml By solar panels

D. R UBR I/ In all forms
Answer: D
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Which device is used to convert solar energy into electricity?

A. icialfecd HIRIBIE / Photovoltaic cells

B. Ud- cXdIgd / Wind turbines

C. SIdIRMY / Reservoirs
D. TRITBRR / Gasifiers

Answer: A

YR H IrHT S 6T GBI TN 1 37
What is the primary use of biomass fuels in India?
A. ‘EQFI\B'C@'JT/ Domestic use

B. foreielt Idre / Electricity generation

C. 3NN IUTRT/ Industrial use

D. a8 |/ In vehicles

Answer: A

AR Foll BT TP ATH FT 82

What is one advantage of solar energy?

A. dg U Wﬁaﬁ:ﬂﬂ@rﬂ%/ It is an inexhaustiblesource

B. g dgd Rl %/ It is very expensive

C. @Wsﬂwﬁmmwm%/ It can only be used in summers

D. g UgUUI ST hdl %/ It generates pollution
Answer: A

YR H ST T I3 987 Gid F91 87

What is the largest source of biomass.in India?

A. UY] S{UMRIY / Animaliwaste

B. FIW IR I THIY / Wooed and forest resources
C. P URIY LAgrictlturalwaste

D. & dRT/ Garbage

Answer: B

AR SHoit o folg HRAH fhd YR &1 Ha- fEH18- SuahT &1 &Il @2
What type of,building design is used for solar energy in India?

A. IRNETIEMYG / Solar passive buildings

ByS=l dIYHIH dTel! YRTATY / High-temperature structures

C. URUR® el SHRG / Traditional mud buildings

D. PigfaRy fEwTs— T8 8 / No specific design

Answer: A

YR # TR Holt b ITANT & dTH T 82

What are the benefits of using solar energy in India?
A. Il w1 I HId / Cheap source of energy
B. T4TaRU1 &I ST/ Saving the environment

C. TAR ITd 3ol / Consistently available energy
D. g4I SWRIe / All of the above

Answer: D

AT IRIPTRR f5 PR 9 SHelf I ST 87

What type of energy is produced by a biomass gasifier?
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A. ﬁ?{lﬁ 3ol / Electrical energy

B. 19 31 / Gas energy

C. A Suil / Thermal energy

D. I 31l / Chemical energy

Answer: B

YR H Ua Sl &) frd Iz | XA fHar Sirdr 82
What is wind energy used for in India?

A. ﬁ"c{ﬂ?[ Jdlq- / Electricity generation

B. U TNeH / Water purification

C. ?ﬁ[?ﬂﬁ/ Agricultural tasks

D. Gﬁ?ﬂmml Industrial processes

Answer: A

S PIRBT13MT T ITAN f5H UHR F a8+ § fa1 Ipdedr g2
In which type of vehicles can fuel cells be used?

A. L\J;\Icl TfeTd dTg / Petrol-driven vehicles

B. Stolc dTfeld a8+ / Diesel-driven vehicles

C. sﬁmaﬁq/ Electric vehicles

D. BT3{s'S a8+ / Hybrid vehicles
Answer: C

YRA & {59 & & agx Sul uiRaio-=1 Rifuad®! s 8?2
In which region of India was the wave,energyproject established?
A. Tf8H ST / West Bengal

B. QTS / Tamil Nadu
C. Hd / Kerala

D. 1[eIRId / Gujarat

Answer: C

YRT § Ua- SHuil.giaroT13i 1 43T 359 71 872

What is the main objective of wind energy projects in India?

A. Sld HT{%EE‘FIT/ Increase water supply

B. faorc@dnas, 3R wmmgtrﬁ’aﬁq TR f9TA0T / Generate electricity and control

climate change
C. ?f@[ JaRD BTG / Produce agricultural fertilizers

D. W&y ﬁﬁ%‘ﬂﬁﬁ 1 fd%IR / Expand healthcare facilities
Answer:B

YRG.H 5 &7 T IR |43 &7 T SUINT 81 X871 82
In which area of India are biogas plants primarily being used?
A. 83T &1 H / Urban areas

B. UTHI0T &3 | / Rural areas

C. 3NN &3 H / Industrial areas

D. aTfoIfSUes &A1 T / Commercial areas

Answer: B

TR BT YRS TP B AT 32

What is the main component of biogas?

A. HI99 / Methane

B. Eléélﬁﬂ / Hydrogen
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C. 3MAT / Ammonia

D. e / Sulfur

Answer: A

YRd # rayra ot uRaisms @t yga@ 19 $ar 82
Who identifies geothermal energy projects in India?

A. YR 3idiRel ST TS (ISRO) / Indian Space Research Organisation
(ISRO)

B. HRdT 1—I§T“—ffq gdeur / Geological Survey of India
C. YR Sl HATS / Ministry of Energy, India

D. YRR HI’GH faHTT / India Meteorological Department
Answer: B

PN-SRRA St 4T § $89 A fha- Suf Iad gidl 82

How much energy is generated from fuel in co-generation power plants?
A. 10-20% / 10-20%

B. 30-40% / 30-40%

C. 50-60% / 50-60%

D. 75-90% / 75-90%

Answer: D

YR H TR Sull $T JIY I8T ATH RN|?

What is the biggest benefit of solar energy.intindia?
A. T3 3ol / Clean energy

B. 3= dIYHIH / High températures

C. 3{i¥e Sieraryg fafaed / Moreclimate diversity

D. 5id JUART | q@/ Increase in Water use

Answer: A
HYRA A STSSIUTaR $f T8 o169 1d 71 87
What is the largest seurcefof hydropower in India?

A. Ffegi / Rivers

B. dH% / Seas
C. Uglsy/ Mountains

D. gﬂﬁ / Lakes

Answer: A

HRA G HR ol BT TR H & g o A siarffta dwr wifia 1 1g
Ui

Which International organization was established to promote solar energy in
India?

A. %f% IR Fll T / Global Solar Energy Alliance

B. 3 TR &S / International Solar Alliance

C. 3 351l T / International Energy Alliance

(o (o
D. Solf IR HdHH / Energy Solar Program
Answer: B

YR B f5a g 5t ot Scure wormeht & Ta 3rfires Set geram gt 82
Which type of energy production system has the highest energy efficiency in
India?

A. URUR® fostelt T4 / Conventional power plants

B. PI-SFRRM ¥4 / Co-generation plants
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C. Ua STl U3 / Wind energy plants

D. TR Folf TG / Solar energy plants

Answer: B

YRd ¥ dex 3R SR Sett &1 Suai fow forg fvan =i we1 872
For what purpose is wave and tidal energy being used in India?

A ﬁ"c{ﬂ?[ Jdlc / Electricity generation

B. 5Tl MY / Water purification

C. @?ﬂ%ﬁﬂl/ For farming

D. gag- & e / For transportation

Answer: A

YRA 8 IR SHoll & Ja9 98 ST d & TP T 32
What is one of the largest uses of solar energy in India?
A. STORY IdTCH / Biogas production

B. olc] &ch%/ Water supply

C. iacggd 3l / Electricity generation

D. AU Sl IadTe / Thermal energy prodgetion

Answer: C

YR B IR T 1 RITAT H fod TR dueril o1 waiT fHar smar g2
What type of materials are used in biogas plantsin India?

A. Had U] MeR / Only cattle dung

B. STd e a3 T 3RS/ Waste flom water purification plants

C. BN 3R e Uiy Madricultiral and industrial waste

D. g, Uyl MR 3R S Uredhar 8[as/ Both cattle dung and aquatic plant

id
Answer: D
YRA § Uaq SHoil'e (T HiF T1YTd Tad IUYa 872

Which state in India 1§most suitable for wind energy?

A. T[IRTd / Gujarat

B. SR UeRH/ Uttar Pradesh

C. AT/ Haryana

D. HERTY /"Maharashtra

Answer: A

YR, H ad (PIRTd $49) A Sl o1 mgfed fora wferra gidl 82
What percentage of energy in India is supplied by oil (fossil fuel)?
A. 20%

B. 30%

C. 40%

D. 50%

Answer: B

YRA 8 WP fa® N9 T I 951 UGN Bl fha1 oI1a1 872
Where is the largest use of natural gas in India?

A. forSTell I@TE / Power generation

B. Wiq GﬁTﬁ@%ﬁW 3T / Fertilizer and petrochemicals production
C. Rt 3/ Refinery industry

D. STd 3MTgfct / Water supply
Answer: A




36. WRd H de STITd B+ & UM &5 DI 4 37
Which are the major regions from which India imports oil?
A. T8 U 3R HAledhl / Madhya Pradesh and Karnataka
B. Hﬁl's:"eﬂ'sf 3R 397 / Mumbai High and Assam
C. IHQTg 3R ISR / Tamil Nadu and Rajasthan
D. fdeit 3R IR UG / Delhi and Uttar Pradesh
Answer: B
37. HRd &1 IS TST dd IcUTeP &3 P 91 87
Which is India’s largest oil producing field?
A. T3 BT / Mumbai High
B. BTA% 91 / Cauvery Basin
C. PUT-MaIaR! 9 / Krishna-Godavari Basin
D. SR 3 gH / Upper Assam
Answer: A

38. WRd H WIPHTaP T BT SUART {5 Solt A TIH P gidl 82

In which energy sector is natural gas most used in,India?
A. forsTelt 3araA / Power generation

B. ?[ﬁ / Agriculture
C. Rw1EfH/ Refining
D. EQT:LBT@?T/ Domestic use

Answer: A

39. HIRd | wIga & fora- ufa=ra Sef #t syl gidt 82
What percentage of energy imlIndia issupplied by coal?
A. 30%
B. 50%
C.63%
D. 75%
Answer: B

40. ;mﬁaﬁuﬁ%ﬁwﬁw%m%@mw@wﬁamﬁ%mmm
?
Whatpercentageyof India‘s coal is used for high temperature purposes?
A. 3%
B. 5%
C. 10%
D. 25%
Answer: A
41. U BT IRHTY Solt IcdTe 6 ybR & foan Siram 32

How is nuclear energy produced in India?
A. UIHT ﬁ'QEET gRT/ By nuclear reactors
B. @T&‘_vﬁm/ By solar energy

C. old gIRT/ By water

D. Ug 3ol gRT/ By wind energy
Answer: A

42. YRA H TRATY] Soit T3 1w forat @ =i =g fu =i g 82

How many nuclear power plants are being opened in India?
A. 10
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B.21
C.15
D. 50
Answer: B

YR H URHTY] St TaA1 &1 pol RITFT &HdT fa- 82

What is the total installed capacity of nuclear power plants in India?
A. 1500 MW

B. 5780 MW

C. 1200 MW

D. 5000 MW

Answer: B

URA B URATY] Soif & Ieare A geT arnh w1 gt @2

What is the main material used in nuclear energy production in‘india?

A. IIH / Uranium
B. 14l / Coal

C. ﬁ?[/ Gas
D. ST / Biomass

Answer: A

YRA H TRHTY] SHoiT G431 b1 Hgi AU fPar ardrg?
Where are nuclear power plants situatedyinsndia?

A. dHx dcl TR/ On the coastlines

B. UddTa &= H / In mountainous regions

C. U4 a9 &/ Away from fiuman,settlements

D. R1831 o U / Near cities

Answer: C

YRT A Soll ShGaurT Sgfdd Hi- Al e g2

What is the currentyproblemwith bndia’s energy supply?

A. 3= Jdla dRId /"Highproduction cost

B. 3{{¥e UgNUI/ More pollution

C. &Fql BHHHTSIR fIeRUr g1 / Capacity shortages and distribution losses
D. ®H Sdic ALowproduction

Answer: C

YRTH TRUTINSSI ScTE & T e SUgad RITH T 872

Wiat,is the most suitable location for nuclear energy production in India?
A. TEEA! / Urban areas

B. df& dc / Coastal areas

C. ¥ &1 / Remote areas

D. JTHIN &3T / Rural areas

Answer: C

YRA § Sl & &I URURS Hid P A 82

What are the main conventional sources of energy in India?
A. ST, dd R/ Coal, oil, and gas

B. IR 3{R Ua= 3wl / Solar and wind energy

C. TR 3R S Sl / Biogas and hydro energy

D. URHIY] Fol 3R Eﬂ%@frl?ﬂ/ Nuclear energy and hydropower

Answer: A
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YRd § yfasg & Rrwrg=3 wiv fpast srganfa g2

What is the estimated future refinery demand in India?

A. 200 THTera= 21/ 200 million tons

B. 368 fifera €/ 368 million tons

C. 500 THfera= € / 500 million tons

D. 600 fAfera @ / 600 million tons

Answer: B

YRA # fra wrumy) Suif Ruaer wifud e =g 82

How many nuclear power reactors are being set up in India?

A. 15

B.21

C.30

D. 40

Answer: B

Sifa® Tg-=iterdr &yan (Biophysical carrying capacity,), Tl 3 %’?
What does biophysical carrying capacity mean?

A. I SIHERET S TRTeAT gRT UETidh 8l Il 8w, The maximum
population that can be supported by resources

B. A4 Sita= ot IOTa / Quality of hiiman life

C. JHTS & ol RRUT / Social status of the sogiety

D. W] 3l &HdT / Food productien capacity
Answer: A

AT A-TRITeTdT & dhy3lavid T T 82
What is included in social carrying,capacity?

A. Had I T TR / Only resource utilization

B. Silad &1 Urd, JYHIT Y 8RR IR / Quality of life, consumption patterns,
and trade

C. Had S0l Gua Only energy consumption

D. HiHd 3MUHRI HT Seaids / Violation of human rights
Answer; B

HTHTIP [RURAL P fo18 GG HgayUl Ued &7 32

What is the most important component for social sustainability?
A. 3L SITa &R / High standard of living
BIRIEHiee] THT faaxur/ Equitable distribution of resources

C. 3= UHITT/ High consumption

D. B8 a1 / None of the above

Answer: B

fapra & 91¢ F WRur A, GpP # fHy &7 ) TR} doi & sedt 872
In the later stages of development, which sector’s share in GDP increases
rapidly?

A ?ﬁf / Agriculture

B. B?ﬂ'{'[/ Industry

C. 9aTd / Services

D. URdg / Transportation

Answer: C
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IEMERor TR § YR ST & fapT | a1 9edr 872

What increases with the development of heavy industry during the
industrialization phase?

A. ol TUd / Energy consumption
B. WB‘CCI'IET-T / Agricultural output
C. Siid ¥R / Standard of living

D. IUHNT Ue+i / Consumption patterns

Answer: A ]

TP IENT 3R JATE YT I BT T | SHoll Wud H $A 8id 872

How do light industry and services compare to heavy industry in terms of energy
consumption?

A. B 3N GﬁT@?ﬂﬁ 3 Holl ud Hd %"/ Light industry'and services

consume more energy

B. B I GﬁT@?ﬂﬁ HH Sl Wad Hd %"/ Light industry andiservices
consume less energy

C. B 3T GﬁT@?ﬂﬁ Sl Wud § JAH gl ?f/ Light industry and services

consume the same amount of energy

D. 5’?13[ I a?rsf :lépf/ None of these

Answer: B

fafRra ¢z & garad fasrasiia ¢H Sl auae ¥ w1 gikad=T gai g2
What change has occurred in energy,consumptionn developing countries
compared to developed countries?

A. 31 ST Wad H RR1ae \’rﬂ'sC %/ T heir energy consumption has decreased

B. 39! Sl WU ﬁq@ Eé%‘ / Their energy consumption has increased

C. 3P Sl @Ud U 35! %/ Theirenergy.consumption has remained stable
D. 37! Soll Wug. HY 8l TI'&F %/ I heir energy consumption has reduced
Answer: B

faera=ite S G ol U T YT HIRUT T 872

What is the main reason fox the increase in energy consumption in developing
countries?

A. 3= Y A High thcome levels

B. 3ff¥h TS HROP3IR NABIBROI/ Increased urbanization and

industrialization
CIGH, S Hd / Low energy prices

D. ﬁ'&f :I'6°f/ None of the above
Answer: B

Soil @ud # gf & URUTARG=Y arara”ur UR o1 YHTG US &l 82

What impact can the increase in energy consumption have on the environment?
A. CO2 IS ﬁq@/ Increase in CO2 emissions

B. ulc] UgHUT / Water pollution

C. g fafaerdr ot 81 / Loss of biodiversity

D. g4I SWRIe / All of the above

Answer: A

fawTasfta 3= & Sl Wud &1 vs Heayul g1 1 82

What is a major issuecregarding energy consumption in developing countries?
A. TR-ATGIIAS FHolf Gidl T IUTNT / Use of non-commercial energy sources




B. e gafarofiia awmsei &R o Sfad HA1/ Focusing on global
environmental problems

C. Sl g Tfafaferdl &t w1 / Lack of energy-intensive activities

D. BE[G;‘_vﬁﬂgq/ High energy prices
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